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CS-2526

M. Com. (Second Semester)

Examination, 2015

APPLIED ECONOMICS

Quantitative Techniques for Economics Analysis

Time Allowed : Three Hours ] [ Maximum Marks :70

Note : Answer five questions in all. Attempt one

question from each unit. Question No.1 is

compulsory. Marks are indicated against

the questions. Use of simple calculator is

allowed.

kegâue heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ FkeâeF& mes Skeâ

ØeMve keâe Gòej oerefpeS~ ØeMve meb.1 DeefveJeeÙe& nw~ ØeMveeW kesâ

Debkeâ efveefo&° nQ~ kewâukegâuesšj keâe ØeÙeesie efkeâÙee pee mekeâlee

nw~

1. Attempt all the following parts: 3×10=30

efvecveefueefKele meYeer Yeeie nue keâerefpeS :

(a) Find the nature of commodities for the

following demand function :
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efvecveefueefKele Deeiele-efveie&le leeefuekeâe mes mekeâue Glheeove

%eele keâerefpeS efpememes ke=âef<e keâer 300 FkeâeF& leLee GÅeesie

keâer 800 FkeâeFÙeeW keâer Deefvlece ceeBie hetCe& keâer pee mekesâ :

Prducer Sector Consumer Sector Final Demand Total output

Glheeokeâ #es$e GheYeesòeâe      #es$e Debeflece ceeBie kegâue Glheeove

Agriculture 300       600 100 1000

Industry 400      1200 400 2000

Unit-II / FkeâeF&-II

4. Solve by the simplex method : 10

efmecheuewkeäme jerefle keâe ØeÙeesie keâjles ngS nue keâerefpeS :

Minimise (Total cost) : Z = 3x
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5. Solve the following transportation problem by

using Vogel's method. 10

efvecve heefjJenve mecemÙee keâes Jeesieue efJeefOe Éeje nue keâerefpeS~

(4)



efvecve ceeBie Heâueve ceW JemlegDeeW keâer Øeke=âefle %eele keâerefpeS~
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2

(b) Distinguish between PERT and CPM.

heš& SJeb meer heer Sce ceW Devlej yeleeFS~

(c) Write the merits of EOQ.

efceleJÙeÙeerr DeeosMe cee$ee kesâ iegCe yeleeFS~

(d) Obtain the dual of the LPP given :

efvecve ØeLece keâer Éwle jsKeerÙe DeeÙeespeve mecemÙee :

Maximize to (DeefOekeâlece)

Z=8x
1
+10x

2
+5x

3

Subject to (ØeefleyevOe nw) :
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(e) What is saddle point in games theory?

iesce LÙeesjer ceW mesef[ue efyevog keäÙee nQ?

(f) Discuss the objective of transportation

Problem.
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heefjJenve mecemÙee kesâ GösMÙeeW keâer efJeJesÛevee keâerefpeS~

(g) Write the assumptions of Input-Output

analysis table.

Deeiele-efveie&le leeefuekeâe keâer ceevÙeleeDeeW keâes efueefKeÙes~

(h) Explain Carrying Cost and Ordering Cost.

Jenve ueeiele Deewj DeeosMe ueeiele keâes mecePeeFÙes~

(i) Write assumptions of NPV Method.

Megæ Jele&ceeve cetuÙe efJeefOe keâer ceevÙeleeDeeW keâes efueefKeÙes~

(j) Discuss the merits of Internal Rate of

Return.

Deevleefjkeâ ØelÙeeÙe oj kesâ iegCeeW keâer JÙeeKÙee keâerefpeS~

Unit-I / FkeâeF&-I

2. Find the maximum and minimum values of the

following two functions : 10

efvecveefueefKele oes HeâueveeW ceW DeefOekeâlece SJeb vÙetvelece cetuÙe %eele

keâerefpeÙes :

(i) y = x3 – 3x + 1

(ii) y = 3x4 – 10x3 + 6x2 + 5

3. From the following table of Input-Output, Cal-

culate the gross output so as to meet the

final demand of 300 units of agriculture and

800 units of Industry.

(2) (3)



Plants Warehouses Capacity

w
1

w
2

w
3

w
4

A 21 16 25 13 11

B 17 18 14 23 13

C 32 27 18 41 19

Requirement 6 10 12 15 43

Unit-III / FkeâeF&-III

6. Solve the following game : 10

efvecve Kesue keâes nue keâerefpeS :
          Player B

          (efKeuee[er B)

4 2 0 2 1 1

4 3 1 3 2 2

Player A 4 3 7 –5 1 2

(efKeuee[er A) 4 3 4 –1 2 2

4 3 3 –2 2 2

7. The annual requirement of an item is 6000

units. Each is costing Rs. 3. Each order costs

Rs.100 to release and inventory carrying

charges are 10% as the average inventory

p.a. Find out :

(i) EOQ and Total Cost.
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(5)



(ii) Whether the items should be purchased

in lots of 300 units at a time, if the price/

unit is reduced by 5% for this quantity.

efkeâmeer ceo keâer Jeeef<e&keâ DeeJeMÙekeâlee 6000 FkeâeF& nQ~ Øeefle FkeâeF&

ueeiele j 3 nQ~ Øeefle DeeosMe JÙeÙe j 100 nQ Deewj ceeue Jeenve JÙeÙe

Deewmele jnefleÙee 10% nw~ %eele keâerefpeS :

(i) Devegketâuelece DeeosMe cee$ee (EOQ) Deewj kegâue ueeiele ~

(ii) keäÙee Fme Jemleg keâe ›eâÙe Skeâ meceÙe ceW 300 FkeâeF& keâer

cee$ee ceW keâjvee ÛeeefnÙes Ùeefo Fme cee$ee kesâ ›eâÙe keâjves hej

cetuÙe ceW 5% keâer keâceerrr keâj oer peeÙes?

Unit-IV / FkeâeF&-IV

8. Explain in detail : 4+3+3=10

efJemleej mes mecePeeFÙes :

(i) NPV Vs IRR

Sve heer Jeer Vs DeeF& Deej Deej
(ii) Profitability Index

ueeYeoeefÙekeâlee efveoxMeve
(iii) Pay Back Period

DeoeÙeieer DeJeefOe

9. A Project has following Characteristics :  10

Skeâ heefjÙeespevee keâer efvecveefueefKele efJeMes<eleeÙeW nQ
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(6) (7)

Activity Preceeding Activity Expected Completion

Time (Weeks)

ieefleefJeefOeÙeeB hetJe&Jeleea ieefleefJeefOe ØelÙeefMele meceeheve meceÙe

(mehleen)

A - 5

B A 2

C A 6

D B 12

E D 10

F D 9

G D 5

H B 9

I C, E 1

J G 2

K F, I, J 3

L K 9

M H, G 7

N M 8

Draw the network, Find the Critical path and

project Completion time.

vesšJeke&â yeveeFS, leeefkeâke&â heLe SJeb heefjÙeespevee meceeheve meceÙe

%eele keâerefpeS~


